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4 Hh R K T K ZDith :
FLK | RK | RIRK | BHF | BHF |BKZK EFK

Rk #ti#a 3 0 0 0 0 0 0 3
EKE ) 1 2 8 203 15 10 250
S ZKE 1 80 25 10 167 47 105 435
HERAKE 0 0 0 0 10 14 2 86
&t 9 817 2] 18 440 16 117 174

g & 1.2%]  11.2% 3. 5% 2.3% 56.8% 9.8%f 15.2% 100%
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4 Hh R K T K T Dith o
FLK | RFK | RIRK | BHF | BHF |BKZK EK

RK#tEE | 14,172 0 0 0 0 0 0 14,172
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& ZKE 190 3,138] 2,382 656 13,887] 6,814] 5,530 32,597
ERAKE 0 0 0 0 5, 249 541 43 5,839
&t 48,109 9,261} 5,260 3,117 66,960 15,6276 12,435 160,418

g & 30. 0% 5. 8% 3. 3% 1.9%  41.7% 9. 5% 1. 8% 100%
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